CyberPower-.........

USER’S MANUAL

EXTENDED BATTERY MODULE
BP48VP2U01
BP48VP2U02

BR4gVpayq,
EXTENDED gar 2 FAST N,
ma02, TECHNOLGer

K01-0000640-00 @
Version 0.4



INTRODUCTIONS

Thank you for purchasing the CyberPower Extended Battery Module BP48VP2U01/ BP48VP2U02 for your Uninterruptible

Power Supply!

The Extended Battery Module is designed for various CyberPower UPS systems and can be used in either rack or tower
installations. The heavy gauge power cord has a plug-n-play DC connector for easy installation. When combining with UPS,
the Extended Battery Module provides extended runtime with a 48VDC external connection. Further, additional
parallel-connected Extended Battery Modules will provide a longer extended runtime for the UPS.

IMPORTANT SAFETY INSTRUCTIONS

This manual contains important instructions that should be followed during installation and maintenance of the Extended
Battery Module and batteries. Please read and follow all instructions carefully during installation and operation of the unit.
Read this manual thoroughly before attempting to unpack, install, or operate.

CAUTION! The Extended Battery Module must be connected to a
grounded AC power outlet with fuse or circuit breaker protection. DO
NOT plug the Extended Battery Module into an outlet that is not
grounded.

CAUTION! The battery can energize hazardous live parts inside even
when the AC input power is disconnected.

CAUTION! To prevent the risk of fire or electric shock, install in a
temperature and humidity controlled indoor area, free of conductive
contaminants. Please see specifications for acceptable temperature
and humidity range.

CAUTION! To reduce the risk of electric shock, do not remove the
cover, except to service the battery. There are no serviceable parts
inside, except for the battery.

CAUTION! DO NOT USE THE EXTENDED BATTERY MODULE ON
ANY TRANSPORTATION! To reduce the risk of fire or electric shock,
do not use the unit on any transportation such as airplanes or ships.
The effect of shock or vibration caused during transit and the damp
environment can cause the unit to short out.

CAUTION! Dispose of or recycle the unit after the end of its life, it
should be in accordance with local regulations.

CAUTION! Please use only VDE-tested, CE-marked or UL/ CSA
certified mains cable, (e.g. the mains cable of your equipment), to
connect the Extended Battery Module to the AC outlet.

CAUTION! Do not unplug the unit from AC Power during operation,
as this will invalidate the protective ground insulation.

CAUTION! DO NOT USE WITH OR NEAR AQUARIUMS! To reduce
the risk of fire, do not use with or near aquariums. Condensation
from the aquarium can come in contact with metal electrical
contacts and cause the machine to short out.

CAUTION! DO NOT INSTALL THE UNIT WHERE IT WOULD BE
EXPOSED TO DIRECT SUNLIGHT OR NEAR A STRONG HEAT
SOURCE!

CAUTION! DO NOT BLOCK OFF VENTILATION OPENINGS AROUND
THE HOUSING!

CAUTION! A single AC inlet can only support 10 Extended Battery
Modules at most. If connecting more than 10 modules, split them
up onto multiple circuits to avoid an overload.

CAUTION! Do not connect the Extended Battery Module to itself.

CAUTION! For ground protection, plug AC power connectivity to
wall receptacle with ground line before using the Extended Battery
Module.




When you receive the unit, the package should contain the following items:

1. Extended Battery Module 2. Faceplate 3. Rail Kit - CP2RAIL02

@E (14) M5 Pan Head Screw g § (2) M5 Round Head Screw
@ (8) Plastic Washer

Note: It is available for BP48VP2U02.
4. Management Cable 5. Power Cord

@lﬂ_\ﬁ/@ (1) IEC C13-C14, @h\ﬁ/_@

Note: Types and quantity may be different by models and selling regions.

(1) BM Cable (1) IEC C13-C14 (auxiliary, 1ft)

6. User’s Manual 7. Mechanical Accessory

Users Menyg

g <>
(2) Rack-Mount Bracket — CPEAR04 = (2) Rack-Mount Handle N (1) Extended Baseplate
j) (12) Dust Cover ii% (4) M5 Pan Head Screw @ (4) M5 Washer i (4) M5 Cage Nut
(4) #10-32*5/8 Round Head Screw %E§ (8) M5 Flat Head Screw %§i§ (4) M4 Flat Head Screw
Q
(4) Rubber Foot (4) M4 Round Head Screw

&




PRODUCT OVERVIEW

BASIC CONFIGURATION

Front Panel

Battery Cover

1.

Front Panel Access Tabs

2.

Faceplate

3.

Rear Panel

AC Inlet

1.

e

Input Circuit Breaker

AC OQutlet

2.

3.

080808080808080
Xo(%0/%(0/0(0 %0 (oS0
OECECECECE05050
OBCECECECEe:
S80808680808680
8808080808080

Extended Battery Module Connector Plug

4.

Extended Battery Module Connector Socket

5.

BP48VP2U01

Fuse Cover
BM Port

6.

7.

79¢

.

|

980808086808080
2080808000800
28688B6Ea0600
200088000CA0H
OB0808080808080
2080808000800
28688B6E0600
er80%(0)%6)%(0(e,2(0
O80808080808080
2080808000800
28688B6Ea0600
200088000CACH
O80808080808080
Nk eReRe RSl

;

BP48VP2U02

BM Port

in battery management module on UPS and Extended Battery

Module. Refer to Basic Operation section in Product Overview.

Connection port for built




Rack Installation for 2-post Rack

af

g [
EX4, x4, x4

1. Attach the brackets with provided M5 flat head screws.
2. Affix the Extended Battery Module to the rack with provided M5 pan head screws, washers and cage nuts.

Rack Installation for 4-post Rack

1. Use the provided M5 flat head screws to attach the brackets and provided M5 pan head screws for hanging brackets.

2. Screw the hanging rails to the rack with provided M5 pan head screws and plastic washers.

3. Lift the Extended Battery Module upon the hanging rails and slide the unit into the rack. Affix the Extended Battery Module to the rack with provided M5
pan head screws, washers and cage nuts. If handles are needed, affix them to the brackets with M4 flat head screws.

Tower Installation with your UPS

1. Combine the extended baseplate to the tower baseplate that comes with the UPS accessories.

2. Screw in the baseplates and attach the brackets to the combined baseplate with the provided M4 flat head screws that come with both the UPS and
Extended Battery Module.

3. Screw the rubber feet with provided M4 round head screws that come with both the UPS and Extended Battery Module and then put the UPS and
Extended Battery Module onto the assembled tower stand. You can also put the dust covers in the screw holes on the top side of the units to prevent
dust from falling into the units.

Normal Use

1. Plug the Extended Battery Module into a grounded receptacle/ wall outlet.

2. Connect the Extended Battery Module to your UPS by plugging the extended battery module connector plug into the connector socket
on the rear panel of the UPS. Ensure the color coded connector plug lines up correctly with the colors in the UPS socket, such as red
to red, black to black and green to green.

3. Connect the BM/ENV port from UPS rear panel to BM port marked “IN” on the rear panel of the Extended Battery Module using the
provided BM cable.




